AR 3HEE (—H) BEAERLEWHS

I

AERESCER R 2 F OB E 5

qw HOH 2% & B L U 2 B v W
( ¥ & )
5 H 14~16 1 (1 G 1 0E) BX LF L& ERBR R #EEs 4 A 20 A
) B e 2 IR Bl o & —
65 90 [ 4= 22 38 44 AL i e i Jm i e ip A 2 5 H 24 H
)1 R G pE iRl o 2 —
6 H 24 H. 6 H 10 H
7H 29 H, AR ENHE 2= 7H 14 H
8 H5H, 26 H ekEE ) TE (%) e ¥— |7H 21 H
- HRHE T AT LORRE - i T OfER
THTH - ARG L - b LA o R T ik 6 7 14 H
)1 B o 5 o iR Bl o & —
[ERBITE OO DR OBR M EE S
7H 21 H TERTHELLL2EH) #HYS 6 H 25 H
)1 B 5 pE AR Bl v & —
[1#% (55 2 RME) BA L Hi L& i C Bz Bl #8s
9 A 11, 12 H B B S i B L 7 — 8 H 20 H
(B PRER LHEBRHEERE] 2
10 A 30,31 H B R B L & — 7TH20 5 8 A 20 H
MBS LF L THAE) ZBRHREYE S
11 H 24,26 H jt#Ei'_gé_EI%(H%)ﬁgmﬁ%ﬁz\/57__11)%125
12§ 15.16 H (& - FhlmEEX R A FEE ) EEe 11 A 29 H

ek T8 (BK) REUBRYE & —

KMHDOHBRSLABENER L RDGENH Y £7,




